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(4) SARDAR PATEL UNIVERSITY
F.Y. B.Com. (EXTERNAL) EXAMINATION
FRIDAY, 7™ MARCH,
2014
10.30 A.M. TO 01.30 P.M.
BM-101: BUSINESS MATHEMATICS

Note: (1) Figure to the right indicates marks.
(2) Log Table and Graph will be provided on request,

Total Marks: 100

Q.1 [A] Define with example, [08]
1. Diagonal Matrix 2. Row Matrix 3. Identity Matrix
4. Square Matrix
[B] Solve the system of equations by Cramer’s Rule, [06]
2x+5y =4
Ix-2y=7 .
(€] 4 -1 -2 5 2 4
f A=|-1 3§, B=|3 -1jandC =|-1 -5{then find
2 0 5 2 3 -2 [06]
(i A+ B (i) 3A—4B + 2C
OR
Q.1 [A] List out rules of determinant. [06]
[B] Solve the system of equations by Cramer’s Rule. {o6]
7 3
4 =_4
Xy
3 4
—+—-=-7
y
[C] Solve the following system of equations using matrix method, [08]
3x -2y +z =2,
x+3y—-2z=2,
2x—y+z=2
Q.2 [A] Define: (i) Set (ii) Intersection of set {ii) Union of set (iv) Power of set [04]
[B] [IfA={-3, -2,0,2}; B={-2,0, 2, 3}, then find, [06]

(i) AxB (i) AUB (iii) AnB (v) A\B

[C] State the De Morgan’s laws for the two sets A and B and verify them by [05)
takingU=1{1,2,3,4,5,6,7,8,9,10}, A={1, 2, 4,6, 8}, B={2, 3,6, 7, 9.
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o x3-=-27
Evaluate: lim
x=3 x—23

OR

If A={5, 6, 7}, B={7, 8} and C={5, 8}, then verify the following results:

AX(B-C=AxXxB—-(Ax0O
If A={1, 2, 3, 4, 5} then find the power set of A.

Evaluate: lim ot
uate: Ilim
va x--2x+2

x? 4 2x —15
x2-9

Evaluate: lim
x —3

Evaluate: lim — 2.
valuate: J}I’ngm

Findj—i—,ify=xe+ex+3"+x°

Find 2, if y = (22 + 5)(3x2 - 7)

Find the equilibrium price using following demand and supply function.

d =20 - 4p, s=10p -8
OR
_ Vx+2-+5
Evaluate: lim —m —
x =3 x—3
Cody | x*+5x+8
Fmdc_i;'lfy___x_

o dy — oXOX
Flnddx,lfy-e 5
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[05]

[05]
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[05]

[05]

[05]

[05]

If the demand function is x = 20 — 2p, find elasticity of demand when [05]

price is Rs. 2.

Find the a if the distance between A (-3, -2) and B (a, 1) is 3v10.
Use the graphical method to solve the following LPP.
MinZ = 10x + 5y
Subjectto 3x + 5y < 150,
S5x + 4y = 100,
0<x< 30
0<y< 15
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Determine the minimum time for the given assignment problem.

Jobs
| H ni v
A 42 40 51 | 67
. B| 57 | 42 | 63 | 58
Machine

C 49 52 48 | 61
DJ 41 45 60 | 55

OR

Find the equation of a line having slope § and the intercept on Y- axis as 6.

Find the equation of a line passing through the points (2, 3) and making
equal intercepts on the axes. Also find its slope.

Write meaning, nature and scope of Operations Research.
Define the terms: (i) Simple interest (ii} Annuity {iii) Sinking Fund

Sadhna chemicals fixed a target of producing 50,000 tons at the end of 7
years. If the production grows at a rate of 5% per annum, find the present

day production of the company.

Renuka has obtained a loan to start an ISP unit. This loan is to be repaid in
10 installments of Rs. 1,75,000 each at the end of every year. If the rate of

compound interest is 12%, find the amount of the loan.

OR
Find f{x + 1)(2x + 1) dx

The population of a city at present is 76,162, which was 65,673 before 5

years. Find out the rate of Growth of population.

[08]
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{05]

[10)
[06]

[06]

[08]

[06]

[07]

Hiteshbhai deposited Rs. 15,000 with a leasing company at 11% rate of [07]

compound interest. What amount will he receive at the end of 5 years?

How much interest will he get?
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